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— ORP M5n WK 70y N2
Whoever comes upon her is liable for an "%n awx

OVERVIEW

The X773 is discussing a case of a married woman, where two contradictory
sets of 07Y came, and one group claims that her husband died (or divorced
her) while the other set denies that this took place; the rule is that if she
remarries (illegally) she may remain married. The X3 challenges this
ruling; how can she remain married since there are contradictory witnesses
(one set of which claims that she is still a married woman), whoever lives
with her may be transgressing a 770 prohibition, and is liable to bring a 127p
"on awr!' The issue in this N9 is whether this woman is considered a P50
YR WX, on account of the M °7n; or perhaps she should be considered a
YR DWR X7 on account of her Xp°vn7 7P that she was an WX NWK.

nvon asks:
= (oW §,NY 97 mn2) DINN 7T 9991 137019 NNT INP HINVNIAT NN

It is astounding to maintain that whoever is 2312 this woman is obligated
(only) for an ""2n owx, when in fact he should be obligated for a nxwn 12p,
for the X712 concludes in 23R '7 P95 -

- zﬂ‘PthN DNPIN RNMININTNII 1I29T NPQ0 90 »9NT
For a case of two 0°7V against two 2°7Y, is deemed to be a po® only 1312772;°
however 7771077 3% we place this woman on her original presumptive status

that she is married. If she is W X nWX npina, then whoever is 2912 her aWw3, is liable for a
nXoun, and not for an »7n oWR!

mooIn has an additional question:
= IPINN NNPINT INP P3N 523 1Y XN NOTYN TANT NUIIYI 3 IWN INNDY

" An "0 owX (a ‘hung’ [doubtful] guilt offering) is brought when there is an (evenhanded) doubt that a 71
prohibition has been violated. A classical case is when there are two pieces of meat, one of which is not
w3, and someone ate one of the pieces and is unsure which one. In our case on account of the
contradictory testimonies she seems to be a ¥k nwX poo. Whoever lives with her is 217 an "%n owX. See
following owx2a 7"7 MdoIN.

21f > *7n would be a Xn™MIRT Xp°00, then it would be understood that >Xp *Yon owRa 7>y Xa7, for itis a o0
TO°R; however RN»7IRTA in a case of *n »n we follow the X p°¥17 Apin (in this case she is WX NWR NPIN2).
She is therefore 770X *R7.

> When the RAPYNT AR is a i NP, the 0°nar rule that (even though XN 7XTx it is 7NN, nevertheless) it
is 712771 MOR, for the 01O deem it to be a RIMT? RNPIRT Nj?°00.
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And in addition, what does the X3 answer, that she married one of her
witnesses (who testified that her husband died or divorced her); the answer
is insufficient, for that witness too, is liable for the pin death penalty” (for
there is no po0), since we place her on her v°X nWX npm.

N1IBOIN answers:
= PN N NY NYIN RADINI NPT NYNRT NPINT ON 13529 9DIN)

And the n'"9 answers that the (opposing) 1P, which is that a woman is
meticulous and marries only after a scrutinizing investigation,” diminishes

the strength of this v°X nwx nptm.% These two mpin cancel out each other. It is
therefore considered as if there is no X°¥»7 711 and the M °7n is ruled as a XpP°90
xn»x7.” Therefore *Xp ™20 QWA oY K37 since it is a XN™NXT Xp*00, and if TANY NXWI
7797 there is no problem (for the 7V), for he maintains that there is no p20; he observed
the Svan nnn.

mooIn now proves that the 7P of X201 RP*7 cancels the WX nWR npim:
$YIN NUN NPINA NINY 29 DY GN DD 07y NI 5 1Y 1999V 99) RNYL INNNT

For it is also for this very same reason that we permit her to remarry
even if there are no witnesses at all,’ even though she is W nwR npIa;

* See ("2) X"w1mn who comments that moon differentiates between 9y X271 that he should be (merely)
nxun 21 (for he is a AW and may have thought the she was 715 npma); and 7°7yn 7% who should be
P10 2»nn (for he is aware that there she was R"X npina [for he is testifying T%¥a nn] and seemingly aware
that there is a n"1n situation, which places her X"X npa). See also 727 ¥°9X.

> The Aptn of X201 Xp™7 AWK is (usually) associated with the severity she will encounter if her original
husband returns after she remarries on the basis of the testimony of an 1% 7¥; but not if two 27V testified
that her husband died (as in our case). See w"X777 MvON (here and 73R 77"7 '010 on 2,05 [TIE footnote # 27])
who maintains that since here it is *n *7n, she will suffer the severe consequences if her husband returns,
therefore she is X201 Xp™7. See there and in >"n in the margin (brought in footnote # 7) why the rpii of
X201m1 Xp>>7 applies (even) to the case of Tw7an1 X 0°1w (where seemingly it can never be disproven that
her husband divorced her, since two 2°7¥ testify to that on her behalf).

% The commentaries explain that even though at this point in the X113 we have not as yet established that we
are discussing a case where she claims nnw °2 >3, nevertheless there is the 7P of X201 XP»T 7WR; either
because the woman even though she is not "33, nevertheless she ascertains that the an°i will not be
contradicted; or that the 711 of X201 Xp>*7 affects the (2°7°nniT) 0°7v, they will not lie, for she may be Xp»7
and prove them wrong. See 11-TA7N NIX O°¥1717 MIDWAH.

7 See 01w MvoIN in the margin (mentioned in footnote # 5) who writes; 53 RPY57 5121 JJWIANI QYRR 201w
9 UM RPT 2TV RDORT 7190 K2V IPUR MEK PRT IR DAR 7T e 89w AR, And when two say she
was divorced, etc., she is also meticulous, for she is afraid that her witnesses may be impeached; she
does not, however, have the P that a woman is not brazen (to claim she is divorced, and therefore
believed when she does claim so0), since she has witnesses who support her claim of divorce.

¥ moon is referring to the 7297 that if one 7v (even a M7y 709, or even the wife) testifies that the husband
died; the woman is permitted to remarry (with precautionary consequences which insures us that Xp»7
X20121).
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for the abovementioned reason that the 7P of X201m1 XpP*°7 cancels the ¥k WX npm,g
and we permit her to remarry.

SUMMARY

"M 7N is only a 112771 PO; and XN 7IRTA we follow the X3P ynT R"X npIm;
however the 711 of X201 Xp»7 cancels out the X"X npin and it remains a
NNPTIRT KOO0,

THINKING IT OVER
If a person is aware that there is a Xn»7X7 Po0 in the act that he is
performing, is he required to bring an "¥>n owx?'’

? Even though that the reason we allow her to remarry is because 1321 72 Y2°pX X1y D1wn; nevertheless if
the X"X np1n would remain (despite the 20191 Xp™7), the reason of X1y would not be sufficient to overrule
a Mo’k npin. Therefore we must say that the Xp*7 removes the 70X NP1, and X113y 2wn provides that she
is not considered (j12771) as a MYaw 127, and any 7Y is sufficient. See VN MK QYT MIDWA.

' See also following MmooIn and 230 MK DY NIIWY.
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